IToa. .

30ma | o0603Ba- HaumeHoBanue Kou. |[Tpumeuanune
YeHHe :

Ri111 OMJIT-0,25-620 OmA5% 1
R112, R113 | OMJIT-0,25-680 Om::5% 2
R114 OMJIT-0,25-1,2 KOM=5% 1
R115 OMJIT-0,25-390 -Om-t5% 1
R116 OMJIT-0,25-33 Om=5% 1
R117, R118 | OMJIT-0,25-430 OM=5% 2 _
R119 OMJIT-0,25-1,2 xOmM=+5% 1
RI21 OMJIT-0,25-30 OM=5% 1
R122 OMJIT-0,25-1,2 KOM£5% 1
R123..R126 | OMJIT-0,25-100 Om=5% 4
R127 OMJIT-0,25-10 xOm=4-5% 1
R128 | CIT4-1B-10 xOM-A 1
R129 | OMJIT-0,25-100 Om=5% 1

1R131, R132 | OMJIT-0,25-3,3 kOm5% 2
R133 OMJIT-0,25-15 kOM=£5Y% 1
R134, R135 | OMJIT-0,25-1,6 xOM+-5Y% 2
RI136 OMJIT-0,25-15 KOM=+5% 1
R137 OMJIT:0,25-100 Om=5% 1
R138 4-18-10 xou.\_-> 1
R139 . | OMJIT-0,25-10 kOM=£5% ° 1
R141, R142 | OMJIT-0,25-1,6 KOM-=5% 9.
R143 OMJIT-0,25-62 Om4-5% 1
R144* OMJIT-0,25-33 Om=5% 1 127..39 Om
R145 OMJIT-0,25-33 Om=5% 1 :
R146 OMJIT-0,25-62 OmA5% 1
R147 OMJIT-0,25-6,8 KOM5% 1
R148 OMJIT-0,25-62 Om5% 1

|R149 OMJIT-0,25-33 Om=+5% 1

RI151* OMJIT-0,25-33 Om=5% 1 [27-39 O
R152 OMJIT-0,25-62 Om-£5% B
R153 OMJIT-0,25-6,8 xOM=+5% 1
R154, R155 | OMJIT-0,25-27 Om=£5% 2
R156..R158 | OMJIT-0,25-27 Om=+5Y% 3
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3oma

ITos,
0603Ha-
‘yeHpe

Haumenopauue -

Koua.

[Mpumevanne

R159
R161
R162, R163
R164
R165
R166
R167
R168, R169
R171, R172
R173
R174
R175
R176
R177
R178
R179
R181

R184
RI85

R186

R187, R188
R189

RIOL .
R192

R193, R194
R195

R196

R197

R198

R199
R201

R202

R182, R183 .

| OMJIT-0,25-1 xOM=+5%

OMJIT-0,25-27 Om=-5%
OMJIT-0,25-27 Om=5%
OMJIT-0,25-1 xOm+5%
C2-10-0,25-432 OM+5Y%
OMJIT-0,25-15 Om=-5%
OMJIT-0,25-5,1 KOM+5%
OMJIT-0,25-1,2 kOM=£5%
OMJIT-0,25-1 KOM5%
OMJIT-0,25-390 Oms5%
OMUJIT-0,25-680 Om=-5%
C2-10-0,25-432 OM=£5Y,
OMJIT-0,25-5,1 kxOM=+5%
OMJIT-0,25-680 Om=+5Y%
OMJIT-0,25-15 Om=£5%
OMJIT-0,25-5,1 kKOM=5%
OMJIT-0,25-390 Om+5%
OMJIT-0,25-200 Om+-5%
OMJIT-0,25-1,2 KOMA5Y%
OMJIT-0,25-4,3 kOmM=-5%
OMJIT-0,25-200 Om=:5%
C2-10-0,25-120 OM=0,5Y%
OMJIT-0,25-5,6 kOu=+5%
CII4-18-2,2 kOM-A
Ozhﬂ.o.wm..m.m KOM=+-5%
OMJIT-0,25-100  OmM=:5% -
OMJIT-0,25-68 OM==5%
OMJIT-0,25-390 Owm:+5%
CII4-18-22 xOmM-A
CII4-18-22 kOmM-A
OMJIT-0,25-1,3 kKOMA+5%
OMJIT-0,25-1,3 kOMA-5%
OMJIT-0,25-56 Om==5%
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